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************************************************************************|

* FTCS Program

************************************************************************|

integer nx
parameter (nx=100,ns=3)
real*8 u(l:nx),F(1:nx),c,dtdx

integer j,step



c=1.0
dtdx=0.25d0

do j=1,50
u(j)= 1.0d0
enddo
do j=51,nx
u(j)= 0.0d0
enddo
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*x / Output /
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open(unit=10,status=’new’ ,file=’output’,form=’formatted’)
write(10,100) nx
write(10,100) ns
do j=1,nx
write(10,100) j
write(10,101) u(j)
enddo
100  format(i5)
101  format(£f6.3)

*

* / Time integration /

*
do step=1,100
do j=1,nx-1
F(3)=0.5d0*cx(u(j+1)+u(j))
enddo
F(nx)=F (nx-1)
do j=2,nx
u(j)=u(j)-dtdx*(F(j)-F(j-1))
enddo
u(1)=u(2)
if (mod(step,50).eq.0) then

write(*, %)



x / output /

A
do j=1,nx
write(10,100) j
write(10,101) u(j)
enddo
endif
enddo
close(10)
*
end
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